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commandwindow File Edit View Insert Tools Desktop Window Help
clear . . = = — =
DSRG[N UDEL-B[0E aD
close all
syms © 1100 T T ¥ i : - v : T
valuess[]
t=1:1:500 1000 [ il |
mean=1000-( (exp(-0.05%¢)) *804)
y=1000+(50/1.0028)*=in(c)+({2.5/1.0025) *cos(c)-( (exp (-0.05%c) ) *802 .4 900
if remit,2) ==0 . 800

values=[values, meanj E
else = 700

valuss=[valu=s,y] g
end % 600
excelvalues=transpose (values) >
minsstransposs(t) 500
plec(c,values)

o 400
grid on
grid mipor
xlabel {('cime (ming) ) 2
ylabel ('wolume{litzes) '} 200 L L i i | i i i i
Elsurite('cdevbesdata.xlsx’, {" cimin) "} 'veriler', *ALl') o 50 100 150 200 250 300 350 400 450
Xiswrice ('odevbesdata.xlisx’;mins, *veriler’, "A2"} ﬁme[rnins]
xlswrite ['cdevhesdata.klsx”, ("V(Litze) "}, "verilesy, *B1 ") T o -
Xlswrite('ocdevbesdata.xlax" , excelvalues, "vexriler", "B2") s95
S00
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1.5000

ko commandwindow
2= clear
F= clc
4= close all
5~ Syms m T
€= t = [0:0.507:5)
G- om= 204 - 1690%exp(=0.025% (t)}
8= plotit.m)
8= xlabel {"time (hri')
i0 = wiabel ("mipounds) )
A= grid on
1= grid minot
 Command Window
£ o=
0 05000 10000
mo=
1.08+03 *
=1.6860 =1. 6623 -1.5393 -1.6164
S>>

20000

-1,5%38

205000

=1.5715

Fila Edit WView Insert Tools Deskiop Windew Help -

DEds bk SAEDEL- G 0B =0

..13._50 T T T T T T T
~1400
1450
g -1500
£ 1550

<1600

3000 6000 S7.5000

-1.5454 -1.5277 -1.5061 -1.484% -1.463% -1.4432 -1.4227 -1.4025 -1.3826 -l.362%




